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 RELAIS GARCONS 2
RANG COULOIR No ETABLISSEMENT CATEG TEMPS

1 3  Béthusy G2 52.24

2 7  Elysée G2 52.95

3 8  Belvédère G2 53.35

4 6  C-F Ramuz G2 54.00

5 5  Montolieu G2 54.04

6 4  Villamont G2 1:01.67

   

 RELAIS FILLES 2
RANG COULOIR No ETABLISSEMENT CATEG TEMPS

1 8  Belvédère F2 56.06

2 3  Béthusy F2 57.06

3 7  Elysée F2 57.72

4 2  Bergières F2 1:01.85

5 6  C-F Ramuz F2 1:04.35

6 5  Montolieu F2 1:10.16

 



 RELAIS GARCONS 1
RANG COULOIR No ETABLISSEMENT CATEG TEMPS

1 6  Villamont G1 57.40

2 7  Belvédère G1 58.08

3 2  Elysée G1 58.10

4 3  Montolieu G1 1:00.20

5 1  Bergières G1 1:00.77

6 5  Béthusy G1 1:01.49

7 4  C-F Ramuz G1 1:03.7

 RELAIS FILLES 1
RANG COULOIR No ETABLISSEMENT CATEG TEMPS

1 8  Belvédère F1 59.71

2 2  Bergières F1 1:00.28

3 3  Béthusy F1 1:00.49

4 7  Elysée F1 1:03.51

5 4  Villamont F1 1:03.73

6 5  Montolieu F1 1:04.32
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